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D.A.V. INSTITUTIONS, WEST BENGAL ZONE 

PERIODIC TEST-2/ HALF YEARLY EXAMINATION 

SESSION 2023-2024 

Class: VI                                                              Maximum Marks: 80 

Subject: English                                                 Time: 3 Hours 

General Instructions: 

1. This question paper consists of 4 pages 

2. There are 16 questions in the question paper. All questions are compulsory. 

3. Question number 4 and 5 has internal choices. Attempt any one from each question. 

4. Number your answers correctly. 

 

1. 

SECTION-A: READING SKILL (20 MARKS) 

Read the passage given below and answer the following questions:                                               

The great advantage of early rising is the good start it gives us to our day’s work. The 

early riser does a large amount of hard work before other men have got out of bed. In 

the early morning the mind is fresh and there are a few sounds or other distractions, 

so the work done at that moment, is generally well done. In many cases the early riser 

also finds time to do some physical activities which supply him with a fund of energy 

that will last until the evening.  

By beginning so early, a person knows that he has plenty of time to do thoroughly all 

the work and is not tempted to hurry over any part of it. All his work being finished in 

good time, he has a long interval of rest in the evening before he goes to bed timely. 

A sound night’s rest helps in rising early next morning in good health and is most 

refreshing, and after a person gets to sleep several hours before midnight, his spirit 

rejuvenates for the works of the new day. 

a) Why did the early riser is having a fund of energy? 

b) What is the great advantage of early rising? 

c) What helps one to rise early next morning? 

d) When does the spirit of an individual rejuvenate? 

e) How is early morning different from other hours of the day? 

f) When does an early riser carry out a large amount of hard work? 

g) Find the words from the passage which mean: 

    i) diversion                       ii) recreate 

h) What enables the early riser to go to bed at proper time? 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

(1) 

(1) 

(1) 

(1) 

(1) 

(1) 

(2) 

 

(2) 

2. Read the poem and complete the summary by filling the blanks with appropriate 

words/phrases: 

Leaves 
How silently they tumble down 

And come to rest upon the ground 
To lay a carpet, rich and rare, 

Beneath the trees without a care, 
                                     Content to sleep, their work well done,  

Colours gleaming in the sun. 

                                             At other times, they wildly fly  

                                             Until they nearly reach the sky.  

                                             Twisting, turning through the air  

                                          Till all the trees stand stark and bare. 

                                              Exhausted, drop to earth below 

                                           To wait, like children, for the snow. 

(1×5=5) 



2 

 

 In the poem the poet says that the leaves (a) ___________ on the ground to form a  

(b) __________carpet beneath the trees. There they sleep in satisfaction after  

(c) __________ and their colours shine in the sun. The poet says that at other times 

the leaves (d) __________through the air till the trees shed all their leaves. The 

exhausted leaves wait for the (e) ___________ to come. 

 

3. 

 

 

 

 

 

 

 

 

 

 

 

 

 

4. 

Read the following passage carefully and answer the questions: 

Music has long been important to Hinduism, especially for many Vaishnavite sects. 

The spread of Islamic rule under the Delhi Sultanate and later the Mughal Empire 

over northern India caused the traditional musicians to seek patronage in the courts of 

new rulers. This encouraged the fusion of Hindu and Muslim ideas that gave birth to 

the Qawwali and Khayal. During Akbar’s rule, music and dance flourished and 

Tansen is still well remembered. Indeed, his ragas (which are based on day time) 

were reputed to have been so powerful that it is said, upon his playing a night-time 

raga in the morning, the entire city fell under a hush and clouds gathered in the sky. A 

number of musical instruments are associated with Hindustani classical music. Some 

of the most famous instruments are the sitar, tabla, sarod, santoor and sarangi. The 

most famous modern performer is, undoubtedly, Pandit Ravi Shankar, who helped to 

popularize Hindustani ragas outside India. Panditji has composed ragas and orchestral 

compositions for several other musicians and has served as an ambassador for Indian 

music worldwide. Other famous musicians are Pandit Hariprasad Chaurasia (flute), 

the late Ustad Ali Akbar Khan and Ustad Amjad Ali Khan (sarod), Pandit Shivkumar 

Sharma (santoor), Ustad Zakir Hussain and his father the late Ustad Alla Rakha 

(tabla), the late Ustad Bismillah Khan (shehnai) and Vishwa Mohan Bhatt 

(rudraveena). 
 

a) What are the compositions of Pandit Ravi Shankar? 

b) Name the two dynasties who spread the Islamic rule in northern India. 

c) Who are the two great musicians associated with tabla? 

d) What gave birth to Qawwali and Khayal? 

e) Find a word from the passage which means - blending. 

 

SECTION-B: WRITING SKILL (16 MARKS) 

You are Rita. Your mother had gone for shopping. In the mean time you 

received a call from the assistant doctor regarding the result of your mother’s 

reports. Since you have to go out, you leave a message for her. Draft a message 

regarding the same in not more than 50 words. 

Dr Kaushik:   Is this A/24, Geeta Colony? 

You:               Yes. May I know who is calling? 

Dr Kaushik:    I am Dr. Kaushik calling from Central Diagnostic Centre. I would like    

                        to speak to Ms. Sneha. 

You:               She is not at home right now. 

Dr Kaushik:   Could you please tell her that I have seen all her test reports. They do   

                       not show any serious problem. I advise her to continue the same set of      

                       medicines for a week and I have fixed her appointment with the     

                       cardiologist at four o’clock at the Christ Hospital. She must reach there   

                       on time with all her reports. 

 You:             Thank you, Doctor. I will convey her the same.  

OR 

Human-induced climate change is causing dangerous and widespread disruption 

in nature and affecting the lives of billions of people around the world. In view of 

this write a paragraph on the topic- ‘GLOBAL WARMING: A THREAT’ 

 

 

(1×5=5) 

 

 

 

 

 

 

 

 

 

 

 

 

(4) 
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OR 

Read the information given below and complete the following paragraph: 

Dr. Rajendra Prasad ……..first President of Independent India …….born on 

December 3 ,1884 …….. M.A., Master in Law ….....impressed by Gandhiji …… 

played an active role …….. Non-cooperation Movement …….. awarded the Bharat 

Ratna ……. death on February 28, 1963. 

 Dr. Rajendra Prasad was the first President of Independent India. He (a) _____, 1884. 

He completed his M.A., Master in Law from the famous Presidency College, 

Calcutta. Dr. Prasad was greatly (b) ______ Gandhiji. He (c) __________ during the 

Non-Cooperation Movement. He (d) ______the nation’s highest civilian award, the 

Bharat Ratna. This great man died on February 28,1963. 

 

5. You are Anupam / Anupama of DAV Public School, Jaipur, Rajasthan. Write a 

letter to the Principal of your school requesting him/her to arrange for a class 

picnic just before the puja holidays. 
OR 

Write a letter to your cousin, Vishal / Vaishali describing the benefits of Co-

Curricular Activities. 

(6) 

6 Prepare a speech for your Morning Assembly, on how hobbies can be a source of  

entertainment, taking help from the chapter Hobbies of your Reader Book. 

(6) 

5.  SECTION-C: GRAMMAR (20 MARKS) 

Do as directed:       

a) I ______ (buy) a new pair of shoes yesterday. (Fill in the blank using past form of 

the verb given in the bracket and state if it is regular or irregular) 

b) The bird flew ______ his head. (Complete the sentence using a preposition) 

c) She played badminton yesterday. (State whether the underlined verb is regular or 

irregular) 

d) Do Ananya play chess? (Use the correct verb form) 

 

(1×4=4) 

6.  The following passage has not been edited. Identify the errors and do the 

necessary corrections:                                             Incorrect                   Correct 

Give me few sugar.                                             a)  _________               _________                    

There isn’t more in my tea.                              b)  _________               _________                           

You can find an jar on the table.                        c)   _________                _________    

There is many sugar inside the jar.                    d)  _________               _________                    

(1×4=4) 

7.  Fill in the blanks with suitable modals:      

a) We ______obey the traffic rules.              

b) You ______ consult a doctor immediately. 

c) She______swim for long hours in her youth.   

d) I______ be the topper next time. 

(1×4=4) 

 

8.  Fill in the blanks in accordance with subject-verb agreement:     

a) My friend and my colleagues _____ (is/are) going abroad. 

b) Every boy and every girl _____  (was/were) given vaccination. 

c) Neither of the men_____  (was/were) a thief. 

d) Nobody_____   (is/are) perfect in this world. 

(1×4=4) 

 

9.  Arrange the following jumbled words to frame meaningful sentences:   

a) last/ in /we /our /week /celebrated /Van Mahotsav /school 

b) it /by /than /was /more /attended /three hundred /students 

c) the eco club /school /of /this /our /organized /event  

d) all /got /and /the / prizes /participants /certificates 

(1×4=4) 

10.  SECTION-D: LITERATURE (24 MARKS) 

Read the extract given below and answer the following questions:  

                            We may all command the present, 

If we act and never wait, 

 

(1×4=4) 

6. 

7.

. 

 6. 

8.

. 

 6. 

9.

. 

10.

.  6. 

11.

.  6. 

12.

.  6. 
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But repentance is the phantom 

Of a past that comes too late! 

 

a) Name the poet. 

i) W.H.Davies    ii) J.E.Carpenter    iii) John Milton        iv) W.B.Yeats 

b) We can command the present if we …………… 

i) sit and wait     ii) sit and sigh     iii) wait and act        iv) act and never wait   

c) Which poetic device is used in the third line? 

i) simile             ii) metaphor    iii) alliteration        iv) none of these 

d) What is the rhyme scheme of the poem? 

i) aabb    ii) abab                iii) abcb                    iv) abcd 

11.  
Read the extract given below and answer the questions that follow: 

‘One day, as he was passing through a forest, he noticed that a black buck came 

running to him.’ 

a) Name the author of the prose piece. 

i) Shaharyar  ii) Alexander Raskin   iii) Ruskin Bond      iv) Subramania Bharati 

b) Who is ‘he’ in the above extract? 

i) the prince                                                  ii) the helpful young man   

iii) the old man                                       iv) the elder brothers 

c) What is a buck? 

i) a female deer     ii) a male deer     iii) a male bear  iv) a female bear 

d)The buck was running because ………. 

i) he was searching his mother                 ii) he was searching his baby   

iii) a lion was chasing him                             iv) the hunters were chasing him  

(1×4=4) 

12.  Answer the following questions briefly:      

a) Who is Rover? What did Daddy do when an elderly lady wanted to pat his head? 

b) Why did the white elephant’s mother advise him not to help the man in distress? 

c) ‘Streams full of stars, like skies at night’- What does ‘Streams full of stars’ refer 

to? 

d) What kind of a person was the Headmaster of Gandhiji’s school? 

(2×4=8) 

 

13.  
What message does the poem ‘Leisure’ convey to the readers?    

(4) 

14.  Real-life incidents and experiences at school had taught Gandhiji what one 

should or should not do at school. Imagine you are Gandhiji. Write a diary entry 

sharing your experiences. 

(4) 

  

********************* 
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16.
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D.A.V INSTITUTIONS, WEST BENGAL ZONE 
HALF YEARLY/PERIODIC TEST II EXAMINATION  

SESSION 2023-24 

CLASS: VI       MAXIMUM MARKS: 80 

SUBJECT: HINDI      TIME: 3 HOURS 

सामान्य निरे्दश:-  
1. इस प्रश्नपत्र में दो खण्ड हैं – खण्ड ‘अ’ और ‘ब’।   
2. सभी खण्ड अननवार्य हैं। 
3. प्रश्नों के सभी उपभागों के उत् तर क्रमश: एक साथ लिखखए।  
4. उत् तर -पुस्ततका में उत् तर के साथ वही क्रम संख्र्ा लिखखए, जो प्रश्नपत्र में दी गई है।  
5. इस प्रश्न  पत्र में कुि 6 पषृ्ठ हैं और प्रश्नों की संख्र्ा 18 है।  

 

 
1. 

खण्ड–अ 
(क) प्रस्तुत गदयाांश पढ़कर कारण-प्रभाव की तालिका पूरी कीजिए - 
भारतीर् अतंररक्ष अनुसंधान के वैज्ञाननकों द्वारा 15 वर्षों की िगातार मेहनत और 
ररसर्य के बाद 14 जुिाई 2023 को र्दं्रर्ान-3 को िॉन्र् ककर्ा गर्ा। इस र्ान 
को सतीश धवन अतंररक्ष कें द्र ‘श्री हरीकोटा’ द्वारा बनार्ा गर्ा। र्ह लमशन पूरी 
तरह भारतीर् वैज्ञाननकों ने पूरा ककर्ा। र्न्द्रर्ान-3 िगभग 40 ददनों में र्दं्रमा के 
दक्षक्षणी ध्रवु की सतह पर सुरक्षक्षत पहुुँर् जाएगा एवं र्दं्रमा से जुड़ी महत् त् वपूणय 
जानकाररर्ाुँ प्रदान करेगा। इस र्ान से र्ंद्रमा के सतह की बनावट, पानी व 
वार्ुमंडि की मौज़ूदगी तथा मौज़ूद प्राकृनतक खननजों की जानकारी प्राप्त होगी। 
इस लमशन से वैज्ञाननक र्ह पता िगा पाएुँगे कक र्दं्रमा पर मानव जीवन संभव 
है र्ा नहीं। र्ह लमशन भारत के राष्रीर् गौरव की बात है। इस लमशन के सफि 
होने के बाद अतंररक्ष क्षेत्र में भारत को एक नई पहर्ान लमिेगी तथा भारत र्ाुँद 
के दक्षक्षणी ध्रवु पर र्ान उतारने वािा पहिा देश बन जाएगा। 

कारण प्रभाव 
_______________________ भारत पहिा देश बन जाएगा।  
र्दं्रर्ान-3 को िॉन्र् ककर्ा गर्ा।   ______________________ 

 
(ख) प्रस्तुत गदयाांश के आधार पर बतख एवां हांस के बीच र्दो समािताएँ एवां र्दो    
    असमािताएँ वेि आरेख के माध्यम से र्दशााइए- 
बतख एवं हंस दोनों जिीर् पक्षी हैं। हंस, बतख की अपेक्षा आकार में बड़ा होता 
है। दोनों का रंग सफ़ेद होता है, परंतु दोनों पक्षक्षर्ों में लभन्नता पाई जाती है। हंस 
पानी में तैर तो सकते हैं, ककंतु अदंर घुसकर लशकार नहीं कर सकते हैं, पर बतख 
पानी के अदंर घुसकर भी अपना लशकार कर सकते हैं।   

 
(2) 

 
 
 
 
 
 
 
 
 
 
        
 

 
 
 
 
 

(2×2=4) 
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(ग) प्रस्तुत गदयाांश के आधार पर पूछे गए प्रश्िों के उत् तर लिखखए –  
िािर् की र्ाह और अलभिार्षा रखने वािे िोगों को भववष्र् में सफिता नही ं
लमिती है। र्ह मनुष्र् के आत्मववश्वास को कमज़ोर करता है। िेककन र्दद 
व्र्स्तत पहिे से ही िािर् न करके ईमानदारी के रातते पर र्िे तो वह कभी 
असफि नहीं होगा। मनषु्र् में पैदा होने वािी िािर् की आकांक्षा इतनी प्रबि 
होती है कक वह दसूरे व्र्स्तत को नुकसान पहुुँर्ाने में जुट जाती है और दसूरे का 
नुकसान करने के साथ-साथ वह अपना भी नुकसान करता है।   
(i) प्रस्तुत गदयाांश का कें द्रीय भाव एवां उसका ववस्तार लिखखए। 
(ii) मिुष्य में िब िािच की आकाांक्षा प्रबि होती है, तब क्या होता है? 

(2×2=4) 
 

 2.  निम्िलिखखत शब्र्दों के उचचत सांबांध वािे सही ववकल्प छाँटकर लिखखए:- 
क) िर : िारी :: सुिार :  ? 
i) सुनारीन      ii) सुनाररनी           iii) सुनररन            iv) सुनाररन 
 
ख) बात : बातें :: परीक्षा :  ? 
i) पररक्षाए ं      ii) परीक्षाएुँ            iii) पररक्षाओं            iv) परीक्षाुँ  
 
ग) कमि : पांकि :: पथृ्वी :  ? 
i) वसुधा        ii) रस्श्म              iii) गगन               iv) मर्ंक    
 
घ) गुणवाि : गुणवती :: सम्राट : ? 
i) शाह          ii) बादशाह            iii) सम्राज्ञी              iv) राजा 
 
ङ) अचधक : कम :: निधाि : ? 
i) धन          ii) धनी             iii) ज़्र्ादा                iv) गरीब 

(1×5=5) 

3. निम्िलिखखत वाक्याांशों के लिए सही ववकल्प छाँटकर लिखखए:- 
क) ककए हुए उपकार को माििे वािा- 
i) कृतज्ञ            ii) कृतघ्न            iii) दर्ावान         iv) दर्ािु  
 
ख) पांद्रह दर्दिों में होिे वािा- 
i) साप्तादहक            ii) दशक          iii) पाक्षक्षक         iv) शताब्दी   

(1×2=2) 

4. निम्िलिखखत कथिों को पढ़कर सही ववकल्प वािे उत् तर छाँटकर लिखखए:- 
क) कथि(A): ‘चांर्दा’ शब्र्द में पाँचवे वणा के स्थाि पर ‘अिुस्वार’ चचह्ि का  
             प्रयोग ककया गया है। 
   कारण(R): यदर्द पाँचवें वणा के बार्द वािा वणा उसी के वगा का कोई अन्य वणा  
          हो तो उस पाँचवे वणा की िगह अिुस्वार का प्रयोग ककया िाता है। 
(i) कथन (A) तथा कारण (R) दोनों ग़ित हैं। 

(1×3=3) 
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(ii) कथन (A) ग़ित है, िेककन कारण (R) सही है। 
(iii) कथन (A) सही है तथा कारण (R) उसकी सही व्र्ाख्र्ा करता है। 
(iv) कथन (A) तथा कारण (R) दोनों सही हैं, ककंतु कारण (R) कथन (A) की 
    सही व्र्ाख्र्ा नहीं करता है।  
 
ख) कथि(A): ‘जिसकी िाठी उसकी भैंस' िोकोजक्त में रेखाांककत शब्र्द ‘नििवाचक      
             सवािाम’ है। 
   कारण(R): ‘नििवाचक सवािाम' से अपिे लिए का बोध होता है। 
(i) कथन (A) तथा कारण (R) दोनों ग़ित हैं। 
(ii) कथन (A) ग़ित है, िेककन कारण (R) सही है। 
(iii) कथन (A) सही है तथा कारण (R) उसकी सही व्र्ाख्र्ा करता है। 
(iv) कथन (A) तथा कारण (R) दोनों सही हैं, ककंतु कारण (R) कथन (A) की 
    सही व्र्ाख्र्ा नहीं करता है।  
 
ग) कथि (A) : ‘वर्ाा’ शब्र्द में ‘र’ पूरा िहीां (अ-रदहत) है। 
   कारण (R) : ‘र' वणा अ-रदहत होिे पर वह रेफ़ के रूप में प्रयोग ककया िाता  
              है।  
(i) कथन (A) तथा कारण (R) दोनों ग़ित हैं। 
(ii) कथन (A) ग़ित है, िेककन कारण (R) सही है। 
(iii) कथन (A) सही है तथा कारण (R) उसकी सही व्र्ाख्र्ा करता है। 
(iv) कथन (A) तथा कारण (R) दोनों सही हैं, ककंतु कारण (R) कथन (A) की 
    सही व्र्ाख्र्ा नहीं करता है। 

5. प्रस्तुत चचत्र को पहचािकर ‘र’ के ववलभन्ि रूपों में से ककसी एक रूप का प्रयोग 
करते हुए िाम लिखखए:-   
 

 

(1) 

6. प्रस्तुत चचत्र में मुहावरे को पहचािकर उचचत वाक्य लिखखए-  
 

 

(1) 

7. उचचत लमिाि कीजिए:-  
क) र्ह मेरी पुततक है         i)  भाववार्क संज्ञा 
ख) पाुँर् िीटर, दस ककिो      ii) ननश्र्र्वार्क सवयनाम 
ग) ईमानदारी, सच्र्ाई         iii) ननस्श्र्त पररमाणवार्क ववशरे्षण 

(1×3=3) 
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8. निम्िलिखखत वाक्यों को पढ़कर सही या गित लिखखए:- 
क) जब ककसी वणय को बोिते समर् आवाज़ मुुँह एवं नाक दोनों से ननकिे तो,  
   वहाुँ ‘अनुनालसक’ चर्ह्न का प्रर्ोग ककर्ा जाता है। 
ख) ‘ताजमहि बहुत सुंदर है।' वातर् में ‘ताजमहि’ जानतवार्क संज्ञा है। 
ग) र्ह कमीज़ मेरी बहन ने दी थी। वातर् में ‘र्ह’ सावयनालमक ववशरे्षण है। 

(1×3=3) 

9. निम्िलिखखत वाक्य में ववराम चचह्िों का प्रयोग करते हुए वाक्य को पुि: लिखें।  
नेहा ने कहा मैं रोज़ देश ववदेश की खबरें सुनती हूुँ  

(1) 

10. निम्िलिखखत चचत्र को आधार मािकर एक अिेकाथी शब्र्द और उसके र्दो अिग-
अिग अथा लिखखए- 

 

(1) 

11. निम्िलिखखत गदयाांश पर आधाररत बहुववकल्पी प्रश्िों के सवााचधक उपयुक्त 
ववकल्प को चिुकर लिखखए:-  
सुंदर िाि ने लमत्रों के साथ आस-पास के सभी गाुँवों में र्ात्राएुँ प्रारंभ की, सभाओ ं
का आर्ोजन ककर्ा और िोगों को वकृ्षों के महत् त् व तथा उनके कटने से लसर पर 
मुँडरा रहे खतरे के बारे में सर्ते ककर्ा। उसन े इनके बारे में सरकार को पत्र 
लिखा। उसने ‘तरू रक्षण एवं वकृ्षारोपण संतथान' का गठन ककर्ा। इसके साथ ही 
उसने िोगों को वकृ्षों की कटाई रोकने का एक ढंग समझार्ा। वह र्ह कक कंपनी 
मज़दरू जब ककसी पेड़ को काटने िगें तो िोग उस पेड़ से लिपट जाएुँ। इसस े
कंपनी मज़दरू उस वकृ्ष को काट नहीं सकें गे। सुंदर िाि के इस आंदोिन को 
र्मत्कारी ढंग से िोकवप्रर्ता लमिी। जहाुँ भी कंपनी के मज़दरू र्ा कोई अन्र् 
ककसी वकृ्ष को काटने िगता, िोग उस पेड़ से लिपट जाते। इसी से ‘चर्पको 
आंदोिन' का सूत्रपात हुआ। 
(क) सुांर्दर िाि िे िोगों को ककसके बारे में सचते ककया? 
(i) कंपनी मज़दरू के महत् त् व के बारे में 
(ii) वकृ्षों के महत् त् व के बारे में 
(iii) अपनी िोकवप्रर्ता के महत् त् व के बारे में 
(iv) ‘चर्पको आंदोिन’ के बारे में 
(ख) सुांर्दर िाि िे ककसका गठि ककया? 
(i) आंदोिन के र्मत्कारी ढंग का              (ii) वकृ्षों की कटाई का 
(iii) ‘तरु रक्षण एवं वकृ्षारोपण संतथान' का       (iv) वकृ्षों के महत् त् व का 
(ग) सुांर्दर िाि िे िोगों को वकृ्षों की कटाई को रोकिे का कौि-सा ढांग      
    समझाया? 
(i) सब िोग सरकार को पत्र लिखें। 
(ii) कंपनी मज़दरू जब ककसी पेड़ को काटने िगें, तो िोग उस पेड़ को छोड़ दें। 

(1×5=5) 
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(iii) कंपनी मज़दरू जब पेड़ को काटने िगें, तो िोग उस पेड़ से लिपट जाएुँ। 
(iv) िोग कंपनी मज़दरू को पीट कर भगा दें। 
(घ) सुांर्दर िाि के प्रयास से ककस आांर्दोिि का सूत्रपात हुआ? 
(i) ‘वकृ्ष बर्ाओ आंदोिन' का              (ii) ‘चर्पको आंदोिन' का 
(iii) ‘वकृ्ष छोड़ो आंदोिन' का              (iv) ‘लिपटो आंदोिन' का 
(ङ) सुांर्दर िाि के आांर्दोिि को ककस ढांग से िोकवप्रयता लमिी? 
(i) र्मत्कारी ढंग से                    (ii) सच्र्ाई के ढंग से 
(iii) सूत्रपाती ढंग से                    (iv) मनर्ाहे ढंग से 

12. निम्िलिखखत कावयाांश पर आधाररत बहुववकल्पी प्रश्िों के सवााचधक उपयुक्त 
ववकल्प को चिुकर लिखखए:-  
दोनों रदहमन एक से, जो िौं बोित नाुँदह।  
जान परत हैं काक–वपक, ररतु बसंत के माुँदह।। 
तरुवर फि नहीं खात है, सरवर वपर्दह न पान। 
कदह रहीम पर काज दहत, संपनत संर्दह सुजान।। 
कदह रहीम संपनत सगे, बनत बहुत बहु रीत। 
बबपनत कसौटी जे कसे, सो ही साुँर् ेमीत।। 
क)तरुवर और सरोवर की क्या ववशरे्ता है?  
i) परोपकारी        ii) तवाथी         iii) आिसी              iv) कृतघ्न 
ख) सच्च ेलमत्र को कैसा होिा चादहए?  
i) दोतती करेने वािा     ii) पैस े के लिए साथ रहने वािा                                              
iii) सर् बोिने वािा                iv) संकट के समर् हमारा साथ देने वािा  
ग) ‘र्दोिों रहीमि एक से' का प्रयोग ककसके लिए ककया गया है?  
i) कौवा के लिए                       ii) कोर्ि के लिए             
iii) कवव रहीम के लिए                 iv) कोर्ि और कौवा दोनों के लिए 
घ) कवव रहीम िे सांपनत का सांचय ककसके लिए करिे को कहा है? 
i) अपने लिए                         ii) दसूरों की मदद के लिए              
iii) ककसी के लिए भी नहीं              iv) कवव रहीम के लिए  
ङ) ‘सुिाि’ शब्र्द का प्रयोग ककसके लिए ककया गया है? 
i) कवव रहीम के लिए                  ii) तरुवर के लिए                      
iii) सरोवर के लिए                    iv) सज्जन व्र्स्तत के लिए 

(1×5=5) 
 
 
 
  
 
 
  

 
13. 

खण्ड-ब 
निम्िलिखखत में से ककन्हीां चार प्रश्िों के उत् तर (25-30 शब्र्दों में) लिखखए- 
क) र्दद ककसी व्र्स्तत को सारे काम अकेिे करना पड़ ेतो तर्ा होगा? ‘साथी हाथ  
   बढाना' कववता के आधार पर लिखें। 
ख) मदहपाि लसहं के जीवन से आपको तर्ा प्ररेणा लमिती है? 
ग) सुंदर िाि के जीवन में पेड़-पौधों का तर्ा महत् त् व था? 

 
(2×4=8) 
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घ) र्रं्ि ने सत्र्पाि को अखबार बेर्ने का तर्ा उपार् बतार्ा एवं सत्र्पाि ने  
   र्रं्ि से तर्ा कहा? 
ङ) आप कैसे कह सकते हैं कक अनोखा वरदान छठे नौजवान को लमिा? 

14. निम्िलिखखत प्रश्िों में ककन्हीां चार के उत् तर (40-50 शब्र्दों में) लिखखए- 
(क) कुछ भी नर्ा सीखने के लिए ककन-ककन गुणों का होना ज़रूरी है? ‘नजानू  
    कवव बना’ अध्र्ार् के आधार पर उत् तर लिखखए।  
ख) पेड़-पौधों की सुरक्षा के लिए आप तर्ा-तर्ा करेंगे? 
ग) ‘पुरतकार’ कहानी को पढने के बाद आपको सत्र्पाि में कौन-कौन से गुण  
   नज़र आए? 
घ) हमें जि का संरक्षण कैसे करना र्ादहए?  
ङ) रहीम ने अपने मन की बात मन में ही रखने के लिए तर्ों कहा है? र्दद कोई  
   आपको अपने मन की बात/दखु को बताए तो आप तर्ा करेंगे? 

(3×4=12) 

15. निम्िलिखखत में से ककसी एक ववर्य पर 80 शब्र्दों में अिुच्छेर्द लिखखए:-  
क) दहदंी ददवस 
ख) ववद्र्ाथी जीवन में अनुशासन की आवश्र्कता  
ग) खेि-कूद का महत् त् व 

(5) 

16. आपके लमत्र का नाम अलमत है और वह राुँर्ी में रहता है। उस ेववद्र्ाथी जीवन 
में पर्यटन (तटडी टूर) का महत् त् व बताते हुए (100 शब्दों में) पत्र लिखखए। 

अथवा 
अपने मोहल्िे में फैिी हुई गंदगी से होने वािी समतर्ा की लशकार्त करते हुए 
उसे साफ़ कराने के लिए नगर पालिका अध्र्क्ष को (100 शब्दों में) पत्र लिखखए। 

(5) 

17. ‘र्ातार्ात के ननर्म' पािन हेतु (50-60 शब्दों में) आकर्षयक ववज्ञापन बनाइए। 
अथवा 

अपन ेपसंदीदा साबुन का (50-60 शब्दों में) आकर्षयक ववज्ञापन बनाइए। 

(5) 

18. ‘अपनी परीक्षा की तरै्ारी कैसे करें’ ववर्षर् पर तवर्ं और अपन ेकक्षाध्र्ापक के 
बीर् हुई बातर्ीत को (60-70 शब्दों में) संवाद के रूप में लिखखए। 

अथवा 
अपन-ेअपने वप्रर् ववर्षर् पर मर्ंक और माधरुी के बीर् हुई बातर्ीत को(60-70 
शब्दों में) संवाद के रूप में लिखखए। 

(5) 
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D.A.V. INSTITUTIONS, WEST BENGAL ZONE 

PERIODIC TEST -2 / HALF YEARLY EXAMINATION 

SESSION: 2023-2024 

Class: VI                                   Maximum Marks: 80 

Subject: Mathematics                                                     Time: 3 Hours 

General Instructions: 
1. The question paper consists of 36 questions, divided into 5 sections A, B, C, D and E. 

2. All questions are compulsory. 

3. Section – A comprises of 16 questions of 1 mark each. Internal choice has been provided in 5 questions. 

4. Section - B comprises of 6 questions of 2 marks each. Internal choice has been provided in 2 questions. 

5. Section - C comprises of 7 questions of 3 marks each. Internal choice has been provided in 2 questions. 

6. Section - D comprises of 4 Case Study based questions of 4 marks each. 4 questions are to be attempted     

     out of 5 in each. 

7. Section - E comprises of 3 questions of 5 marks each. Internal choice has been provided in 1 question. 

SECTION - A 
 

1. Write the greatest five-digit number using the digits 4, 2 and 0. (1) 

2. Write the Roman numeral for 1,729. 

Or 

Write MCDXCVI in Hindu Arabic number. 

(1) 

3. Replace  by a digit so that the number is divisible by 9.     46       31 

Or 

Express 18 as sum of two odd prime numbers. 

(1) 

4. What is the HCF of any two co-prime numbers? (1) 

5. The predecessor of the integer (–1)   is ________. (1) 

6. Subtract −6 from 0. (1) 

7. ___________ term of a ratio is called Antecedent. 

Or 

Find the ratio of a dozen to a score. 

(1) 

8. Express 45 minutes to 3 hours as ratio in the simplest form. (1) 

9. How many line segments are there in the given figure?                                                           

   

Or 

How many lines can pass through one given point? 

(1) 

10. A, B, C are any three points in a plane. Join them in pairs. How many lines can you get if 

A, B, C are non-collinear? 

(1) 

11. The number of diagonals in the given figure is ______. 

(a) 3        (b) 6        (c) 5        (d) 4 

(1) 

12. If AB = 2.3 cm, then construct a line segment of length 2AB. (1) 

13. Every line has a definite length. (True / False) 

Or 

Line segment is a portion of a line having two end points and a definite length.  

(True / False) 

(1) 

14. If a bicycle wheel has 36 spokes, then the angle between two consecutive spokes is ___. 

_______________. 

(1) 
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15. Write the names of two pairs of parallel lines. 

 

 

 

 

(1) 

16. In the given figure, write the alternate interior angle of ∠𝑐. (1) 

 SECTION - B  

17. Find the value by using distributive property: 

361 × 162 − 361 × 60 − 2 × 361 

(2) 

18. Write the following integers in their increasing order. – 3, 0, – 6, 5, – 4, 6, 3, – 8 

Or 

Find the sum:    (- 7) + (- 9) + (+ 4) + (+ 3) 

(2) 

19. If 25, 35, x are in continued proportion, find the value of x. (2) 

20. Write the maximum and minimum number of points of intersection at which three lines can 

intersect in a plane. 

(2) 

21. Answer the following questions for the given figure: 

a) AC − OC = ________ 

b) BO + DO = _________    

(2) 

22. Are ∠ADC and ∠BDC adjacent angles? Justify your answer. 

                                     Or 

Write the Supplement of the angle 120°. 

(2) 

 SECTION - C  

23. Find the smallest number which when divided by 25, 40, and 60 leaves remainder 7 in each 

case. 

(3) 

24. Find the value of:  (−3)2 × (−1)21 × (5)2 × (−10)3 (3) 

25. The sides of two squares are in the ratio 3:4. Find the ratio of their areas. 

Or 

The cost of 12 kg rice bag is ₹ 495. Find the cost of one quintal rice bag. 

(3) 

26. In the given figure, name ________ 

a) The lines concurrent at the point G. 

b) The point of intersection of three lines m, n, r. 

c) Two pairs of intersecting lines. 

(3) 

27. Find the perimeters of a square of side 1 cm and of a rectangle with length 2.5 cm and 

breadth 1.5 cm. Construct a line segment whose length is the sum of their perimeters. 

(3) 

28. Look carefully at the figure and write down – 

a) One pair of adjacent angles.  

b) One linear pair.  

c) One pair of complementary angles. 

(3) 

29. Find the values of a, b and c. (Here m ║ n) 

(If two lines are parallel then alternate angles are equal.) 

 

 

 

(3) 
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Or 

Match the following from the given figure: 

 

Column A Column B 

(i) alternate interior angles (a) ∠BGH, ∠AGE 

(ii) corresponding angles (b) ∠CHG, ∠BGH 

(iii) vertically opposite angles (c) ∠EGB, ∠GHD 

 SECTION - D  

30. Rishit and Abhik went to the bank to withdraw ₹ 1500 to buy gifts for their sister for 

Rakshabandhan. They went to Big Bazaar to buy the gifts. They climbed up 40 stairs to the 

second floor to purchase the gifts. They bought a flower vase for ₹550.Then they climbed 

down 20 stairs to the first floor and bought a perfume bottle for ₹600. They bought a story 

book for their mother with the rest of the money. Both the mother and the sister were very 

happy to receive the gifts. 

Answer the following questions: (any four) 

i) Withdrawal of ₹1500 can be expressed using integers as: 

a) +₹1500                   b) -₹1500                    c) +₹150                    d) -₹150 

ii) Cost of the story book is ______. 

a) ₹550        b) ₹ 450         c) ₹350        d) ₹650 

iii) Climbing down 20 stairs can be expressed using integers as: 

a) + 200                  b) - 20        c) + 20                  d) –200 

iv) Climbing up 40 stairs can be expressed using integers as: 

a) + 4                    b) + 40                    c) - 40      d) None of these 

v) Total cost of flower vase and perfume bottle is____________. 

a) ₹ 350                  b) ₹ 1250                   c) ₹ 1500                d) ₹ 1150 

(4) 

31. On a Sunday, Aruna went to the market to buy few items for Puja. She had ₹1200 in her 

purse. She bought 5 dozen of bananas at ₹36 per dozen and 8 kg of apples for ₹880. She 

paid the amount for the fruits to the shopkeeper and went to the next shop. There she spent 

the remaining money in buying incense stick at ₹20 per packet. 

Answer the following questions: (any four) 

i) The price of 5 dozen bananas is__________. 

a) ₹ 360                     b) ₹ 200                       c) ₹ 180                       d) ₹ 250 

ii) The total amount of the fruits she paid to the shopkeeper is _____. 

a) ₹1100                    b) ₹ 1060                      c) ₹ 1200                    d) ₹1090 

iii) What will be the price of 4 kg of apples? 

a) ₹ 440                      b) ₹ 110                       c) ₹ 400                       d) ₹ 600 

iv) The amount of money left with Aruna after buying the fruits is _____. 

a) ₹ 240                       b) ₹ 260                      c) ₹ 200                        d) ₹140 

v) How many packets of incense stick can be bought using the remaining money? 

a) 9                               b) 5                             c) 7                              d) 6 

(4) 

32. Observe the given figure and answer the following questions: (any four) 

 

 

 

 

 

 

 

i) Write another name for ∠3. 

a) ∠𝐴𝐵𝐶                        b) ∠𝐵𝐶𝐷                      c) ∠𝐶𝐷𝐸               d)∠𝐶𝐴𝐵 

ii) Which set of points are collinear points? 

a) A, B, C                      b) C, D, E                     c) A, D, C             d) B, E, C 

(4) 
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iii) Vertically opposite angle of ∠ADB is _____.  

a)∠ABC                         b)∠ADE                       c) ∠BDC               d)∠CDE 

iv)∠CDE + ∠ADE = _____________ . 

a) 90°                           b) 180°                          c) 360°                  d) Can not be determined 

v) Which of the following is an obtuse angle? 

a) ∠ABD                     b) ∠ADE                       c)  ∠DCB                d) ∠AED 

33. Look at the figure and answer the following questions: (any four) 

 

i) Alternate interior angle of ∠3  is ______. 

(a) ∠1                                  b) ∠4                     c) ∠5                              d) ∠6 

ii)(∠2, ∠8) is the pair of __________. 

a) Corresponding angles                                                        b) Alternate interior angles   

c) Alternate exterior angles                                                    d) Vertically opposite angles 

iii)   (∠1, ∠4) is the pair of _________. 

a) Vertically opposite angles                                                   b) Adjacent angles                      

c) Corresponding angles                                                         d) Alternate angles 

iv)(∠3, ∠7) is the pair of ___________. 

a) Corresponding angles                                                         b) Alternate interior angles   

c) Alternate exterior angles                                                     d) Vertically opposite angles 

v) Supplementary angle of ∠4 is _____. 

a) ∠2                                b) ∠8                              c) ∠6                         d) ∠1 

(4) 

 SECTION - E  

34. a) Find the product by suitable arrangement.   16 × 125 × 8 × 625 

b) Simplify the following numerical expression.   20 − 3− [7− {2+(4−3)}] 

(5) 

35. a) Can two numbers have 18 as their HCF and 469 as their LCM? 

b) Find the HCF and LCM of 65 and 25. 

Or 

a) Find the prime factorisation of 1,260.  

b) Check whether the number 8,56,31,227 is divisible by 11 or not? 

 

(5) 

36.  

 

 

 

 

 

 

 

 

In the given figure, write: -                                                                                            

a) All the pairs of parallel lines. 

b) The lines whose point of intersection is E. 

c) The lines whose point of intersection is at F. 

d) A set of collinear points. 

e) Write the name of the point where line t and r intersect each other. 

(5) 

                                                             ******************** 
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D.A.V. INSTITUTIONS, WEST BENGAL ZONE 

PERIODIC TEST -2/ HALF YEARLY EXAMINATION 

SESSION: 2023-2024 

Class: VI                                                                                         Maximum Marks: 80 

Subject: Bengali                                                                                        Time: 3 Hours 

নির্দেশিকা: ক) এই প্রশ্নপর্ে চারনি নিভাগ ও চারনি পৃষ্ঠা আর্ে।  
            খ) এই প্রশ্নপর্ে পর্ির্রানি প্রশ্ন আর্ে।      
 

1. 
নিভাগ-ক 

অ) িীর্চর অিুর্েদনি পর়্ে প্রশ্নগুনির উত্তর লির্খা।  
গােিার কার্ে নগর়্ে লদখিাম কাণ্ডিার চারনদর্কই িাদানম রর্ের ির়্ো ির়্ো কাাঁিা়ে ভনতে৷ গােিার 
আত্মরক্ষার অপূিে লকৌশর্ির কথা ভািনেিাম। হঠাৎ মর্ি হি, একিা কাাঁিা লেি একিু ির়্ে উঠি। 
নিস্মর়্ে অিাক হর়্ে লগিাম৷ কাাঁিানির্ক ি়ের্ত লদখিাম লকি? তর্ি লে নক লচার্খর ভুি? নির্শষ 
মর্িার্োর্গর ের্ে িক্ষ করর্তই িজর্র প়েি একিা কাাঁিাই ি়ে, এখার্ি-লেখার্ি অর্িক কাাঁিাই 
মার্ে মার্ে ির়্ে উর্ঠর্ে৷ একিা কাাঁিা ধর্র িাির্তই অনত েহর্জই গার্ের গা লথর্ক উর্ঠ আের্িা, 
লেি িরম আঠা নদর়্ে আির্তাভার্ি েংিগ্ন নেি৷ কাাঁিািা তুর্িার মর্তা িরম এিং ফাাঁপা৷ ধারার্িা 
লেড নদর়্ে একিা কাাঁিা নচাঁর়্ে লফির্তই লভতর লথর্ক েরু এিং িম্বা একিা লপাকা লিনরর়্ে প়েি৷ 
লপাকািার মুর্খর নদকিা গাঢ় খর়্েনর রর্ের, নকন্তু শরীরিার রং হািকা িাদামী। কাাঁিার মর্তা পদাথেিা 
লে লপাকািার িাো িা িনহরািরণ মাে লেিা েহর্জই লিাো লগি৷ এই লপাকাগুনি মুখ লথর্ক েূক্ষ্ম 
েুতা লির কর্র তার োহার্েে গার্ের োর্ির কু্ষদ্র কু্ষদ্র অংশ একর্ে জুর়্ে কাাঁিার মর্তা িাোর 
কাঠার্মা নিমোণ কর্র৷ অির্শর্ষ গার্ের গা লথর্ক েূক্ষ্ম েূক্ষ্ম িাির্চ রর্ের িুকর্রা েংগ্রহ কর্র 
কাঠার্মার গার়্ে রর্ের প্রর্ির্পর মর্তা েিেে েমভার্ি এাঁর্ি লদ়ে৷ কার্জই স্বাভানিক কাাঁিার ের্ে 
আপাতদৃনির্ত লকার্িা পাথেকে উপিনি হ়ে িা৷  

 

(1×5=5) 

 ক) গার্ের কার্ে নগর়্ে লিখক কী লদখর্িি? 
 খ) কাাঁিার্ক স্বাভানিক কাাঁিা়ে প্রনতপন্ন করার জিে তারা কী িেিস্থা লি়ে? 

 গ) কাাঁিার মর্তা কাঠার্মা নিমোণ কর্র কারা কীভার্ি িাে কর্র? 
 ঘ) কাাঁিািা লকমি নেি? 
 ে) নিপরীত শব্দ লির্খা: কু্ষদ্র 
আ) িীর্চর অিুর্েদনি পর়্ে প্রশ্নগুনির উত্তর লির্খা। 
গতিের পেেির্কর ঢি লির্মনেি নচনির আিাকামা মরুভূনমর্ত। িৃনি িামার ফর্ি আিাকামা লের্জ 
উর্ঠনেি ফুর্ি। েমস্ত পৃনথিীর্ত মরুভূনমর্ক ভাগ করা হ়ে লেখার্ি কতিা িৃনি পর়্ে, উষ্ণতা কত, 
তার লভৌর্গানিক অিস্থাি আর কতিা জিী়ে িাষ্প লেখার্ি থার্ক তার ওপর। ১৯৬১ োর্ি লপর্রনভি 
লমইগ মরুভূনমর্দর গ়ে িানষেক িৃনিপার্তর পনরমাণ অিুোর্র নতি ভার্গ ভাগ কর্রনের্িি। 
লফার্িইক্স, আনরর্জািা মরুভূনমর্ত িের্র িৃনি পর়্ে ২৫০ নমনিনমিার্ররও কম; এরা শুষ্ক মরুভূনমর 
দর্ি পর়্ে। নকেু মরুভূনমর্ত আিার িের্র ২৫ নমনিনমিার্ররও কম িৃনি পর়্ে, এর্দর অনতশুষ্ক 
মরুভূনম ির্ি (আিাকামা এই ধরর্ির মরুভূনম)। আরও নকেু জা়েগা আর্ে লেখার্ি িৃনি পর়্ে ২৫০ 
লথর্ক ৫০০ নম.নম. পেেন্ত, এর্দর প্রা়ে শুষ্ক মরুভূনম ির্ি।  

(1×5=5) 

 ক) আিাকামা কী ধরর্ির মরুভূনম? 
 খ) শুষ্ক মরুভূনমর্ত িানষেক িৃনিপার্তর পনরমাণ কত হ়ে? 
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 গ) লপর্রনভি লমইগ কীর্ের নভনত্তর্ত মরুভূনমর্দর ভাগ কর্রনের্িি?  
 ঘ) লফার্িইক্স, আনরর্জািা কী ধরর্ির মরুভূনম?   
 ে) অথে লির্খা: শুষ্ক  

 

 

2. 

নিভাগ – খ  
লতামার কর়্েকজি িনু্ধ নশক্ষামূিক ভ্রমর্ণ োর্ে। তুনম তার্দর েহোেী হর্ত চাও। এই নিষর়্ে িািার 
কার্ে অিুমনত লচর়্ে িািার্ক একনি পে লির্খা। 

অথিা 
েংিাদপে পার্ঠর উপকানরতার কথা জানির়্ে িনু্ধর্ক একনি পে লিখ া। 

 

 

(5×1=5) 

3. অিুর্েদ লির্খা: (লে লকার্িা ১নি) 
 ক) আমার্দর জীির্ি পনরশ্রর্মর গুরুত্ব            খ) লদশ ভ্রমর্ণর উপকানরতা 

(5×1=5) 

 

 

4. 

নিভাগ – গ 
েনঠক উত্তরনি নিিোচি কর্র লির্খা।                     

 

 

(1×8=8) 

  ক) স্বরধ্বনির ের্ে স্বরধ্বনির নমির্ি লে েনন্ধ হ়ে তার্ক ির্ি -  

      i) িেঞ্জিেনন্ধ     ii) স্বরেনন্ধ      iii) নিেগেেনন্ধ      iv) েমাে  

  খ) ‘িান়ে়োিা’ এই  েনন্ধিদ্ধ শব্দনির্ত লিাপ লপর়্ের্ে -  

      i) ‘অ’ িণেনি     ii) ‘আ’ িণেনি    iii) ‘ঈ’ িণেনি      iv) ‘ও’ িণেনি  

  গ) লিদ + অন্ত - েনন্ধ করর্ি হ়ে -   

      i) লিদান্ত        ii) িদান্ত        iii) িদন্ত          iv) লিঅন্ত  

  ঘ) খাাঁনি িাংিা স্বরেনন্ধর উদাহরণ হি -  

      i) কুিিা        ii) গা়েক        iii) প্রর্তেক        iv) লের্িনম  

  ে) স্পশেির্ণের েংখো হি -  

      i) ২৩ নি        ii) ২৪ নি       iii) ২৫ নি         iv) ২৬ নি  

  চ) ‘অ’ এর স্বাভানিক উচ্চারর্ণর উদাহরণ হি -   

      i) কি          ii) পশু           iii) অনত         iv) কনর  

  ে) িাংিা িণেমািা়ে ‘ি’ লদখা ো়ে -  

      i) ১ নি          ii) ২ নি          iii) ৩ নি       iv) ৪ নি  

  জ) ‘র’ লক িিা হ়ে -  

      i) স্বরিণে       ii) নশশ্ ধ্বনি      iii) কম্পিজাত ধ্বনি     iv) দন্তেিণে  

5. িীর্চ লদও়ো মন্তিে ও েুনি নির্েষণ কর্র েমূ্পণে েনঠক নিকল্পনি নচনিত কর্র লির্খা। (1×2=2) 

 ক) মন্তিে: খাাঁনি িাংিা স্বরেনন্ধগুনি েংসৃ্কত েনন্ধর নি়েম অিুোর্র হ়ে িা। 
    েুনি: িাংিা েনন্ধর নি়েম িাংিা ভাষার নিজস্ব।  

 

       i) মন্তিে েনঠক, েুনি ভুি।                        ii) মন্তিে ও েুনি দুনিই েনঠক। 
      iii) মন্তিে ও েুনি দুনিই ভুি।                     iv) মন্তিে ভুি, েুনি েনঠক।   

 

 খ) িামনদর্কর োর্থ ডািনদক নমনির়্ে েনঠক নিকল্পনি নচনিত কর্র লির্খা।  

 িামনদক                           ডািনদক  

 অ) িেঞ্জিিণেগুনি স্বরির্ণের োহােে               I) োিুিানের্কর উচ্চারণ প্রচুর। 
আ) পনিমির্ে কথে ভাষা়ে                     II) উচ্চারণ হ়ে ‘ে’ এর মর্তা। 
ই) শর্ব্দর মার্ে ‘ে’ থাকর্ি তার               III) উচ্চারণ হ়ে ‘ইাঁ়োঁ’ এর মর্তা। 
ঈ) লকার্িা শর্ব্দর লশর্ষ ‘ঞ’ থাকর্ি তার       IV) ো়ো উচ্চানরত হর্ত পার্র িা। 
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    i) অ-I, আ-II, ই-III, ঈ-IV  
   ii) অ-II, আ-III, ই-I, ঈ-IV 
   iii) অ-IV, আ-I, ই-II, ঈ-III 
   iv) অ-IV, আ-II, ই- III, ঈ-I 

 

6. শূিেস্থাি পূরণ কর্রা। 
ক) উষ্মিণেগুনির উচ্চারর্ণর েম়ে িাগ্েন্ত্র লথর্ক ___িা়ুে লিনরর়্ে আর্ে। (ঠান্ডা / গরম)  
খ) িাংিা়ে োধারণভার্ি ‘র’ এিং ____এর উচ্চারর্ণ লকাি তফাত লিই। (়ে / ড) 
গ) নশশ্ লদও়ো ধ্বনির ের্ে োদৃশে আর্ে ির্ি ‘শ’, ‘ষ’, ‘ে’ এর্দর ির্ি _____।  
   (নশশ্  ধ্বনি/ কণ্ঠ্ে ধ্বনি)  
ঘ) ‘ত’ লথর্ক ‘ি’ পেেন্ত িণেগুনি উচ্চারণ করার েম়ে নজর্ভর তিা দাাঁত ও দাাঁর্তর মূি স্পশে কর্র ,    
    তাই এর্দর ির্ি ____। (তািিে িণে/ দন্তে িণে) 
ে) লেৌনগক স্বরধ্বনির অপর িাম হি ____। (শুদ্ধ স্বরধ্বনি / েংেুি স্বরধ্বনি) 

(1×5=5) 

7. েনন্ধ নির্েদ কর্রা। 
  ক) পিি  
  খ) মহাশ়ে         
  গ) কু্ষধাতে 

(1×3=3) 

8. িীর্চর তথেগুনির ভুি েংর্শাধি কর্র লির্খা। 
   ক) লপ্রৌঢ় – েনন্ধ নির্েদ করর্ি হ়ে – প্র + উঢ় 
   খ) ‘উ’ নকংিা ‘ঊ’ এর পর ‘উ’ িা ‘ঊ’ থাকর্ি দুর়্ে নমর্ি ‘উ’ হ়ে। 

 

(1×2=2) 

 

 

9. 

 

নিভাগ-ঘ  
েনঠক উত্তরনি নিিোচি কর্র লির্খা। (প্রশ্ন নং – ‘ক’ খেকক ‘গ’ পর্যন্ত) 
  ক) ত্রের্িাকে নপ্র়ে ডািারর্ক ‘পাগিা ঠাকুর’ ির্ির্েি কারণ - 
      i) নতনি আপাতদৃশিকত খ পাকে হকেও, পর্রাপকারী নের্িি। 
      ii) নতনি পাগি নের্িি। 
     iii) শতশন গশরব-দ ুঃ ীকদর সাহার্য করকতন িা।  
     iv) নতনি ঠাকুর নির়্ে থাকর্তি। 
  খ) ‘নমিনত’ কথানির অথে -  
      i) নমিনমি কর্র িিা 
     ii) িানির়্ে িিা 
     iii) কাতর অিুর্রাধ  
     iv) নফনরর়্ে লদও়ো  
 গ) েকাির্িিা নপ্র়ে মুখুর্েে অতেন্ত িেস্ত হর়্ে োনের্িি কারণ - 
     i) নতনি িাজার োনের্িি। 
     ii) নতনি ডািানর প্রোকনির্ে োনের্িি। 
     iii) তাাঁর িান়ের্ত অর্িক লিাকজি এর্েনেি। 
     iv) নতনি প়োর্ত োনের্িি। 
 
   

 

(1×4=4) 
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ঘ) িীর্চ লদও়ো মন্তিে ও েুনি নির্েষণ কর্র েমূ্পণে েনঠক নিকল্পনি নচনিত কর্র লির্খা। 
    মন্তিে- গুরু শানন্তপি আরুনণর্ক চার লিদ ও ষট্ শার্ে জ্ঞাি িার্ভর আশীিোদ কর্রনের্িি। 
    েুনি- নশষে আরুনণ নির্জর স্বাের্যের নদর্ক ভ্রূর্ক্ষপ িা কর্র গুরুর আর্দশ মািে কর্রনের্িি। 
       i) েুনি নঠক ও মন্তিে ভুি 
       ii) মন্তিে ও েুনি দুর্িাই নঠক   
       iii) েুনি ভুি ও মন্তিে নঠক 
       iv) মন্তিে ও েুনি দুর্িাই ভুি 

10. িীর্চর প্রশ্নগুনির উত্তর অনত েংর্ক্ষর্প লির্খা।      
   ক) ভারর্তর লকান্ নিজ্ঞািী পৃনথিীর আিতেিজনিত নদিারানে-লভদ আনিষ্কার কর্রি? 
   খ) শদক্নিণে়ে করার জিে কী িেিহৃত হ়ে? 
   গ) প্রাচীি ভারত লকান  লকান  নিষর়্ে খুি উন্নত নেি? 
   ঘ) পনিম িাংিার দুনি উর্েখর্োগে িদীর িাম লির্খা ।  
   ে) ‘কর্পাতাক্ষ িদ’ কনিতানি কনি লকাথা়ে থাকাকািীি নির্খনের্িি?  
   চ) ‘েতত’ শর্ব্দর অথে কী?     

(1×6=6) 

11. িীর্চর প্রশ্নগুনির েথােথ উত্তর লির্খা।   

 ক) ‘নদনদঠাকরুন এর্ি িনিে আমার ির়্ো ওষুর্ধর িার্ক্স একিা আি-আনি আর্ে, নদর্ত।’ – লক, 
কার্ক একথা ির্িনেি? আি আনিনি িিা নদর়্েনের্িি লকি?  

(2+3=5) 

 খ) ‘জগৎ অর্িক নিষর়্ে তার্দর কার্ে ঋণী;’ - কার লিখা, লকান্ গর্ল্পর অংশ? জগৎ কার্দর কার্ে, 
কীভার্ি ঋণী?   

(2+3=5) 

 গ) ‘আর কী লহ হর্ি লদখা?’ – লক, কার্ক উর্েশে কর্র একথা ির্ির্েি? এই আর্ক্ষর্পর কারণ কী?   (2+3=5) 

12. েপ্রেে িোখো কর্রা।   (5×1=5) 

 ‘আজ্ঞামাে আরুনণ লে কনরি গমি।’   
             অথিা 
‘শুনি়ো িনিি গুরু, এে লহ উনঠ়ো।’   

 

13. িীর্চর প্রশ্নগুনির উত্তর লির্খা। 
ক) শ্রীচচতিের্দি গ়ো লকি নগর়্েনের্িি? 
খ) কীভার্ি িক্ষ্মীনপ্র়োর্দিীর মৃতুে হর়্েনেি? 
গ) িির্েন্স ক্লার্ি লকান লকান নিষ়ে নির়্ে আর্িাচিা হত? 
ঘ) েুকুমার রার়্ের লিখা দুনি িাির্কর িাম লির্খা। 
ে) িির্েন্স ক্লার্ির মুখপেনির িাম কী নেি? 

(1×5=5) 

14. ত্রচতিের্দি কীভার্ি নহযু ও মুেিমার্ির মর্ধে নমিি লেতু রচিা কর্রনের্িি? (2) 

15. েুকুমার রা়ে একিার িািক করর্ত নগর়্ে লকান পািে নির়্েনের্িি এিং লকি নির়্েনের্িি ? (3) 

************* 
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D.A.V. INSTITUTIONS, WEST BENGAL ZONE 

PERIODIC TEST -2 / HALF YEARLY EXAMINATION 

SESSION: 2023-2024 

Class: VI                                     Maximum Marks: 80 

Subject: Sanskrit                                                             Time: 3 Hours                                                         

निरे्दशा:  

1. अस्मिि    प्रश्नपत्रे 5 खण्ााः सस्ति।  
2.  प्रनिखण्मय उत्तरास्ि पथृक   प्रर्दत्तायाि    उत्तरपुस्मिकायाां लेखिीयानि।  

3. प्रत्येकां  खण्ि    अनिकृत्य उत्तरास्ि क्रिेि लेखिीयानि।  
4. प्रश्नसङ्ख्या प्रश्नपत्रािुसारां लेखिीया।  
5. खण्सङ्ख्या अपप लेखिीया।  
6. अस्मिि    प्रश्नपत्र े20 प्रश्ना: 8 पषृ्ठानि च सस्ति।  

 खण्ाः ‘क’ अपठिि-अवबोििि   (10)  
1. (I) अिोनलस्खिां गद्ाांशि   आितृ्य वेि-आरेखे प्रश्नािाि   उत्तरास्ि नलखतिु - 

एकाः काकाः आसीि  । साः पपपानसिाः आसीि  । साः जलां प्राप्ुां इिमििाः भ्रिनि मि। 
ठकतिु साः जलां ि प्राप्िोनि मि। ठकस्चचि   कालां पश्चाि   साः अनचतियि   जलां कथां 
प्राप्मयानि? सहसा साः एकां  घटि   अपश्यि  । घटे मवल्पां जलि   आसीि  । अिाः साः जलां 
प्रापु्ि   असिथथाः आसीि  । ठकस्चचि   पवचायथ स: पाषािखण्ानि आिीय घटे अस्िपि  । 
िर्दितिरां शि ाः शि ाः जलि   उपरर आगच्छि   । जलां पीत्वा सतिुष्टाः अभवि  । 

(अ) अमय गद्ाांशमय शीषथकां  नलखि। 
(आ)  शीषथकां  सिथथिां करोनि एवि   द्वौ सूचकौ गद्ाांशाि   नचत्वा नलखि। 
 
 
 
 
 

(II) अिोनलस्खि-कथाां पठित्वा प्रर्दत्तवाक्यानि घटिाशङृ्खखलारेखे अिुक्रििेि नलखतिु – 
(क) रात्रौ िववार्दिे भोजिां कृत्वा शयिां करोनि। 
(ख) सायांकाले क्री्ािेत्रां गच्छानि। 
(ग) मवल्पाहाराि   अितिरां पवद्ालयां गच्छानि। 
(घ) अहां प्रािाः पचचवार्दिे उपत्तष्ठानि। 

 
 

 

 
 
 
 
 
 

(1) 
(1+1=2) 

 
 
 
 
 

(½×4=2) 
 
 
 
 
 
 
 

 
ख 

क 

ग घ 
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 (III) अिोनलस्खिां गद्ाांशि   आितृ्य कारिां प्रभावाः च 'टी-चाटथ' िाध्यिेि नलखतिु - 
गोपालाः एकाः उत्तिाः बालकाः अस्मि। साः पािशालायाां प्रनिठर्दिां पािां पिनि। गहेृ अपप 
पििमय अभ्यासां करोनि। अिाः साः परीिायाां सफलाः भवनि। साः सवेषाां सहायिाां 
करोनि गुरुजिािाां वाक्यानि च शिृोनि। अिाः सवे गोपालमय गुिगािां कुवथस्ति। 
गुिगािां श्रतु्वा स: आिस्तर्दिां भूत्वा सवेषाां सहायिाां करोनि। 

टी-चाटथ  
कारिि   प्रभावाः  

(i) सवे गोपालमय 
गुिगािां कुवथस्ति। 

(ii)  

(i)  
 

(ii) गोपालाः परीिायाां सफलाः 
भवनि ।  

(1×2=2) 
  

 (IV) अिोनलस्खिां गद्ाांशां पठित्वा वेि-आरेखे 'अांिर: सिाििा च' नलखतिु - 
काक: पपकाः च खगौ मिाः। काकाः कृष्िविीयाः अस्मि। पपकाः अपप कृष्िविीयाः 
अस्मि। पपकमय मवराः ििुराः अस्मि। परतिु काकमय मवराः ककथ शाः अस्मि। पपकाः 
वसतिसिये ििुरां गायनि। काकाः सवथर्दा “का का" इनि ध्वनिां करोनि। 
  
 
 
 
 

 

  

(1+1+1=3)  

 खण्ाः ‘ख’ रचिात्िककायथि   (15)  
2. िचजूषायााः उनचिां शब्र्दां नचत्वा अिुच्छेर्दां पूरयतिु -  

भारिरे्दशाः अमिाकां  रे्दशाः (i)_______। अयां पवश्वमय (ii)_______ रे्दशाः अस्मि। अयां 
(iii)______ ििथमय च (iv)_______ अस्मि। (v) ________ अमय उत्तरमयाां ठर्दनश 
विथिे। 

िचजूषा 

(1×5=5) 
 
 
 
 
 

3. नचत्रि   आितृ्य नलस्खिेषु वाक्येषु िचजूषायाां प्रर्दत्त-पर्दािाां सहायिया ररक्तमथािपूनििं 
कुवथतिु -  
 
 
 
 

(1×5=5) 
पवथिराजठहिालयाः, अस्मि, प्राचीिििाः, आठर्दजतिभूनिाः, ज्ञािमय 

काक: 
अांिर:  

(i) 

पपक: 
अांिर:  

(i) 
सिाििा  

(i) 
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क) मवािी पववेकाितर्दाः एकाः िहाि   ……………………. आसीि  ।  
ख) िमय जति ………………. अभवि  ।  
ग) िमय गुरुाः ……………….. आसीि  ।  
घ) साः ……………………. अमथापयि  ।  
ङ) साः पवश्व-ििथ-सम्िेलिे ………………….. प्रनिनिनित्वि   अकरोि  । 

िचजूषा  
श्रीरािकृष्िाः, ठहतर्दिुिथमय, रािकृष्िििि  , कनलकािायाि  , पररव्राजकाः  

4. सांमकृिभाषायाि   अिुवार्दां कुरुि -  
(i) श्याि पढ़िा ह । 
(ii) िैं नलखिा हूूँ। 
(iii) िुि पढ़िे हो। 
(iv) सीिा घूििी ह । 
(v) व ेजािे हैं। 

(1×5=5) 

 खण्ाः ‘ग’ अिुप्रयुक्त-व्याकरिि   (25)  

5. विथ-योजिां कृत्वा प्रर्दत्तपवकल्पेभ्याः उनचिि   उत्तरां नचिुि -  
(i) क  + उ + ि   + र   + अ = ?  

(क) कुत्र              (ख) कर्दा             (ग) ठकि    
(ii) ि   + अ + द् +आ  = ?  

(क) कर्दा             (ख) िर्दा              (ग) यर्दा  
(iii) ि   + अ + ि   + र   + अ = ?  

(क) ित्र              (ख) ििाः             (ग) िर्दा 

(1×3=3) 

6. रेखास्ङ्खकिपर्दािाि   मथािेषु प्रर्दत्तपवकल्पेभ्याः आकारति-स्त्रीनलङ्खग-शब्र्दािाां प्रयोगां  
कुरुि -  
(i) चटकाः आकाशे उत्पिनि। 

(क) चटका            (ख) चटके            (ग) चटकााः  
(ii) उद्ािे पुष्पास्ि पवकसस्ति। 

(क) वाठटका           (ख) वाठटकायाि         (ग) वाठटके  
(iii) विृाि   पत्रास्ि पिस्ति। 

(क) लिा             (ख)लिाि              (ग) लिायााः 

(1×3=3) 

7. ठक्रयारूपािाां वचिपररविथिां कृत्वा प्रर्दत्तपवकल्पेभ्याः उनचिि   उत्तरां नलखि -  
(i) एकवचिि                   बहुवचिि    

अस्मि                    _______ 
(क) सस्ति            (ख) मिाः            (ग) मथ  

(1×3=3) 
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(ii) एकवचिि                   बहुवचिि   
गच्छनि                   ________ 
(क) गच्छनस         (ख) गच्छस्ति       (ग) गच्छिाः 

(iii) एकवचिि                   बहुवचिि    
पिनि                     ________ 
(क) पिथ           (ख) पिस्ति         (ग)  पिनस  

8. प्रर्दत्तपवकल्पेभ्याः सिुनचिां शब्र्दरूपां नचत्वा वाक्येषु ररक्तमथािानि पूरयतिु -  
(i) _________ बानलका अस्मि। 

(क) एषा             (ख) एषाः              (ग) एिे  
(ii) _________ फले मिाः। 

(क) िि               (ख) िे                (ग) िानि 
(iii) एषाः _________ अस्मि? 

(क) काः             (ख) कौ                (ग)  के  
(iv) _______ षष्ठी-किायााः छात्राः अस्मि। 

(क) अहि             (ख)  त्वि                (ग) िे  

(1×4=4) 

9. प्रर्दत्तपवकल्पेभ्याः सिुनचिां िािुरूपां नचत्वा वाक्येषु ररक्तमथािानि पूरयतिु -  
(i) श्यािाः पत्रां ________। 

(क) पिनि           (ख) पििाः              (ग) पिस्ति  
(ii) साः ग्रािे ________। 

(क) निष्ठनि          (ख) निष्ठस्ति             (ग) निष्ठिाः 
(iii) िोहिाः कूपां _______। 

(क) पश्यिाः          (ख) पश्यस्ति            (ग) पश्यनि  
(iv) िगृााः विे ________। 

(क) भ्रिनि          (ख) भ्रिस्ति             (ग) भ्रिनस  

(1×4=4) 

10. सस्तिां कृत्वा प्रर्दत्तपवकल्पेभ्याः उनचिि   उत्तरां नचिुि -   
(i) ि + असत्यि   = ?  

(क) िासत्यि          (ख) िोसत्यि           (ग) िेसत्यि    
(ii) पवद्ा + आलयाः = ?  

(क) पवद्ालयाः       (ख) पवद्ेलयाः          (ग) पवद्ोलयाः  
(iii) रिा + ईशाः = ?  

(क) रिोशाः         (ख) रिेशाः            (ग) रिशाः  
(iv) सप् + ऋपषाः = ?  

(क) सप्पषथाः         (ख) सप्ऋपष          (ग) सप्ोपषथ  

(1×4=4) 
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11. प्रर्दत्त-पवकल्पेभ्याः उनचि-कारकपवभपक्तयुक्तपर्दां नचत्वा ररक्तमथािानि पूरयति ु-  
(i) साः  अस्मिि   ______ पिनि। 

(क) पवद्ालयि        (ख) पवद्ालये            (ग)  पवद्ालयाि    
(ii) बानलकााः _____ क्री्स्ति। 

(क) पार्दकतर्दकुमय     (ख) पार्दकतर्दकेुि        (ग) पार्दकतर्दकुाि    
(iii) बाल: _______ पिनि। 

(क) पत्रि             (ख) पत्राय             (ग) पत्रमय 
(iv) ______ भ्रिस्ति। 

(क) बालकाः         (ख) बालकौ            (ग) बालका: 

(1×4=4) 

 खण्ाः ‘घ’ पठिि-अवबोििि   (25)  

12. अिोनलस्खि-गद्ाांशां पठित्वा प्रश्नािाि   उत्तरास्ि नलखतिु -   
एष: पवद्ालयाः अस्मि। एषाः िि पवद्ालय: अस्मि। िि पवद्ालयाः सुतर्दर: अस्मि। िि 
पवद्ालय: पवशालाः अपप अस्मि। अहां प्रनिठर्दिां पवद्ालयां गच्छानि। अहां पवद्ालये 
प्रनिठर्दिां पािां पिानि। अहां पवद्ालये प्रनिठर्दिां लेखि   अपप नलखानि। पवद्ालये िि 
अिेकानि नित्रास्ि सस्ति। 
(अ) प्रर्दत्तपवकल्पेभ्याः उनचिि   उत्तरां नचिुि।  
(i) ‘पवद्ालय:’ इत्यस्मिि    परे्द का पवभपक्त: अस्मि?  
(क)  प्रथिा         (ख) ठद्विीया         (ग)  ििृीया  
(ii) ‘एष: पवद्ालयाः अस्मि’ – अत्र ठक्रयापर्दां ठकि    अस्मि? 
(क) एष:            (ख) पवद्ालय:        (ग)  अस्मि  

(आ)  एकपरे्दि उत्तरि। 
(i) कमय पवद्ालयाः सुतर्दराः अस्मि? 
(ii) क: पवशाल: अस्मि? 

(इ) पूिथवाक्येि उत्तरि।   
(i) अहां पवद्ालये प्रनिठर्दिां ठकां  पिानि? 
(ii) पवद्ालये िि अिेकानि कानि सस्ति? 

 
 
 
 
 

(1×2=2) 
 
 
 
 

  (½×2=1) 
 
 

(1×2=2) 
 

13.  अिोनलस्खिां पर्दयाांशां पठित्वा प्रश्नािाि   उत्तरास्ि नलखतिु - 
चतर्दिां शीिलां लोके चतर्दिाि   अपप चतरिााः। 
चतरचतर्दियो: िध्ये शीिला सािसुङ गनिाः।। 

(अ) प्रर्दत्तपवकल्पेभ्याः उनचिि   उत्तरां नचिुि।  
(i) ‘चतर्दिाि   ’ इत्यस्मिि    परे्द का पवभपक्त: अस्मि? 

(क) सप्िी         (ख) ििृीया       (ग) पचचिी 
(ii) ‘लोके’ इनि पर्दमय पयाथयपर्दां ठकि   ? 

(क) सांसारे       (ख) िगरे        (ग) ग्राि े
 

 
 
 

(1×2=2) 
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 (आ)  एकपरे्दि उत्तरि। 
(i) चतर्दिाि   क: शीिल: भवनि? 
(ii) कयो: िध्ये शीिला सािुसङ गनिाः? 

(इ) पूिथवाक्येि उत्तरि। 
(i) चतर्दिां लोके कीदृशां भवनि? 
(ii) कमिाि   अपप चतरिा: शीिलाः भवनि? 

(½×2=1) 
 
 

(1×2=2) 
 

14. िाटयाांशां पठित्वा प्रश्नािाि   उत्तरास्ि नलखतिु। 
अध्यापपका - छात्रााः ! आगच्छि, अद् वयां सिुरिटां चलािाः। 
           (हपषथिााः छात्रााः सिुरिटां गच्छस्ति) 
सागराः - नित्रास्ि ! ित्र पश्यि। जले बहवाः पवनचत्रााः जतिवाः सस्ति। 
सवे - आि  । वयां पश्यािाः। 
श्रनुिाः - अरे ! ित्र एकाः ित्मयाः र्दीव्यनि। 
श लेशाः – आि  । साः काः ित्मयाः अस्मि? 
अध्यापपका - अयां मवस्िथिाः ित्मयाः अस्मि। अमय विथाः मविथसदृशाः भवनि। अिाः साः  
           र्दीव्यनि। 
िीिािी - अयां सुतर्दराः ित्मयाः अस्मि। 
िोठहि: - 'टरथ टरथ' इनि कमय ध्वनिाः जलाि   आगच्छनि? 
अध्यापपका - अयि   िण्ूकाः अस्मि। 
सागराः - ठकि   िण्ूकाः जले वसनि? 
अध्यापपका - िण्ूकाः िु जले भूिौ च उभयत्र वसनि। 

 
 
 
 
 
 
 
 
 
 
 
 
 

 

 (अ) प्रर्दत्त-पवकल्पेभ्याः उनचिि   उत्तरां नचिुि। 
(i) ‘ित्मय:’ इत्यस्मिि    परे्द का पवभपक्त: अस्मि? 

(क) प्रथिा          (ख) ििृीया        (ग) पचचिी 
(ii) 'ित्र एकाः ित्मयाः र्दीव्यनि।' - अस्मिि   वाक्ये ठक्रयापर्दां ठकि  ?  
(क) एकाः              (ख) ित्मयाः        (ग) र्दीव्यनि   

(1×2=2) 
  

 (आ)  एकपरे्दि उत्तरि। 
(i) हपषथिा: छात्रााः कुत्र गच्छस्ति? 
(ii) ‘टरथ’ इनि कमय ध्वनि: भवनि? 

(½×2=1) 
  

 (इ) पूिथवाक्येि उत्तरि। 
(i) सिुरमय जले काः र्दीव्यनि? 

    (ii)  जले कीदृशााः जतिवाः सस्ति?   

(1×2=2)  

15.  िचजूषािाः उनचिां पर्दां नचत्वा अतवयां नलखतिु - 
उद्िेि ठह नसध्यस्ति कायाथस्ि ि ििोरथ ाः। 
िठह सुप्मय नसांहमय प्रपवशस्ति िुखे िगृााः।। 

  

(½×4=2) 
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 अतवयाः- कायाथस्ि (i) …….. ठह (ii) ……… ििोरथ ाः ि। (iii) ……… नसांहमय (iv) 
……….. िगृााः ि प्रपवशस्ति।  
 
िचजूषा -  
 

 
 
 
 

 
16. िचजूषािाः सिुनचिपर्दानि नचत्वा भावाथिं (सरलाथिं) नलखि -  

पप्रयवाक्यप्रर्दािेि सवे िुष्यस्ति जतिवाः। 
िमिाि   िरे्दव वक्तव्यां, वचिे का र्दरररिा।। 

भावाथथाः- यठर्द वयां (i) ………..….. सह ििुरां वठर्दष्याि ाः (ii) ……….…… सवे जिााः 
(iii) ………..…. भपवष्यस्ति। अिाः (iv) ……………... (v) .............. एव वक्तव्यि  । 
ििुरभाषिे (vi) ……………….. ि करिीयाः।  

िचजूषा 
प्रसतिााः, भाषिि  , सङ्खकोचाः, सववाः, ििुरां, िर्दा 

 

(½×6=3) 

17. एिानि वाक्यानि कथा-क्रिािुसारां क्रिेि नलखतिु - 
(क) हररिाः िुक्ताः अभवि  ।  
(ख) हररिमय नित्रास्ि िमय प्रिीिाि   अकुवथि  । 
(ग) िूषकाः जालि   अकृतिि  । 
(घ) एकर्दा एकाः व्यािाः हररिां जालेि अबद्धि  । 

(½×4=2) 

18. रेखास्ङ्खकिपर्दिाितृ्य प्रर्दत्तपवकल्पेभ्याः उनचिां प्रश्नवाचकपर्दां नचिुि -  
(i) िगृााः नसांहमय िुखे ि प्रपवशस्ति। 

(क) काः              (ख) कौ              (ग) के 
(ii) सा प्रथिा भारिीया पविािचानलका आसीि  । 

(क) काः              (ख) कौ              (ग) का 
(iii) एकाः ित्मयाः जलमय उपरर आगच्छनि। 

(क) कमय            (ख) काः              (ग) कमिाि   

(1×3=3) 

 खण्ाः – ‘ङ’ साठहत्यां व्याकरिचच (05)  

19. प्रश्नाि   पठित्वा अिोनलस्खिेभ्याः पवकल्पेभ्याः शुद्धि   उत्तरां नचत्वा नलखतिु -  
(i) अनभकथिि   - सूयाथमिाः भवनि परतिु हररिाः ि आगच्छनि। 

िकथ ाः - व्याि: हररिि    अबद्धि   ।  
(क) अनभकथिि   शुद्धि   िकथ ाः अशुद्धाः। 
(ख) अनभकथिि   अशुद्धि   िकथ ाः शुद्धाः। 
(ग) उभौ शुद्धौ। 
(घ) उभौ अशुद्धौ। 

(1×2=2) 

नसध्यस्ति, सुप्मय, उद्िेि, िुखे  



Page 8 of 8 
 

(ii) अनभकथिि   – उत्तिााः जिााः अतयेषाां सुखाय मवसुखां त्यजस्ति। 
िकथ ाः – उत्तिााः जिााः सरलहृर्दयााः परोपकाररिाः च ि भवस्ति। 
(क) अनभकथिि   शुद्धि   िकथ ाः अशुद्धाः। 
(ख) अनभकथिि   अशुद्धि   िकथ ाः शुद्धाः। 
(ग) उभौ शुद्धौ। 
(घ) उभौ अशुद्धौ।  

20. उनचि-सम्बतियुक्तपर्दां नचत्वा नलखतिु -  
(i) प्रसतिााः : हपषथिााः :: प्रयच्छ : _____ 

(क) रे्दठह             (ख) र्दर्दानि            (ग) यच्छानि 
(ii) पवद्ालयाः : पािशाला :: क्री्ाङ्खगिे : _____ 

(क) रिािेते्र          ख) क्री्ािेत्रे           (ग)  रििेते्र  
(iii) अस्मि : सस्ति :: गच्छनि : ______ 

(क) गच्छिाः          (ख) गच्छस्ति         (ग)  गच्छनस    

(1×3=3) 

 

****** 
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D.A.V. INSTITUTIONS, WEST BENGAL ZONE 

PERIODIC TEST -2 /HALF YEARLY EXAMINATION 

SESSION:  2023-2024 

Class: VI                                                                                  Maximum Marks: 80 

Subject: Science                                                                                           Time: 3 Hours 

General Instructions: 

         1. All questions are compulsory. 

         2. There is no overall choice. However internal choices have been provided in 3 questions of 3 marks  

             category and 3 questions of 5 marks category. 

3. Question 1 to question 10 are very short answer type. 

4. Question 11 and 12 are assertion reason type questions and question 13 and 14 are paragraph-based       

    questions. 

5. Question 15 to question 24 are short answer type questions and carry 3 marks each. 

6. Question 25 to question 30 are long answer type questions and carry 5 marks each.  

 

1. Name the two sources of vitamin E. (1) 

2. What is special about xerophytes on the basis of their natural habitat? (1) 

3. Which of the following component is not involved in photosynthesis process? 

i) carbon dioxide                    ii) water              iii) glucose                              iv) nitrogen 

(1) 

4. Deficiency of which of the following nutrient causes night blindness? 

i) Protein                                 ii) fats               iii) vitamin-A                          iv) vitamin-C 

(1) 

5. A _____ has fixed shape and volume.  

i) Liquid                                  ii) Gas               iii) Solid                                  iv) None  

(1) 

6. Butter is separated from milk by - 

i) sedimentation                      ii) filtration      iii) centrifugation                     iv) decantation 

(1) 

7. Rusting of iron is an example of - 

i) slow change                     ii) fast change   iii) reversible change             iv) physical change 

(1) 

8. Energy is absorbed in - 

i)burning of a candle      ii) respiration        iii) burning of LPG                    iv) melting of ice 

(1) 

9. What do we use to measure the length of a curved line? 

i) Thread                                 ii) Wood           iii) Sand                                  iv) Paper 

(1) 

10. Apple and Neem trees are - 

i) xerophytes                          ii) hydrophytes   iii) mesophytes                       iv) none of these 

(1) 

 Assertion Reason Type Questions (Q11 and Q12): Two statements are given. One 

labelled Assertion (A) and the other labelled Reason(R). Select the correct answer to 

these questions from the codes a), b), c) & d) as given below: 

 a) Both A and R are true and R is the correct explanation of A. 

 b) Both A and R are true and R is not the correct explanation of A. 

 c) A is true but R is false. 

 d) A is false but R is true. 

 

11. Assertion: Wood is an opaque object. 

Reason:     Light can pass through all opaque objects. 

(1) 

12. Assertion:  When we speak our lips undergo non-periodic motion. 

Reason:     Our lips do not repeat its movement in similar way. 

(1) 
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13. Ripu has retarded growth. The face, feet and abdominal region get swollen due to water 

retention. The child does not get proper meal in his diet. He remains ill for most of the time 

and undernourished. His parents are worried about him and they took him to a doctor. 

Doctor on looking on his physical appearance gave some test and said he is suffering from a 

deficiency disease. 

a) Name the deficiency disease the child is suffering from. 

    i) Anaemia                     ii) Kwashiorkar                   iii)Goitre            iv) Ricket 

 b) Suggest the nutrients which is required for the child. 

     i) Proteins                     ii) Carbohydrates                iii) Fats                     iv) all of these 

c) Identify the other symptoms which can be associated with the above deficiency   

    disease. 

    i) Discolouration of hair                                                                  ii) Wasting of muscle    

   iii) Diarrhoea                                                                                    iv) both i) & iii) 

d) The above deficiency occurs in the age group.   

     i)  upto 3 years            ii) upto   5 years                iii) upto 7 years           iv) upto 9 years  

(4) 

14. Sarita lives in a village. In her village she has a pond, she loves to throw stone in the pond. 

One day she did a competition with her friends in throwing stone in the pond water. In the 

competition they formed the rule that the stone thrown must cover a distance by moving on 

the surface of water. 

The person whose stone will cover greater distance will be the winner. After the game Sarita 

explained the different types of motion to her friends which she has learnt in the school. 

a) The kind of motion which has been displayed by throwing stone on water- 

   i) Rectilinear motion                                       ii) Curvilinear motion       

  iii) Rotational motion                                      iv) Periodic motion  

b) Name the type of motion when the object rotates on its own axis. 

   i) Rotational motion                                         ii) Periodic motion       

   iii) Non periodic motion                                   iv) both a & b 

c)  A car moving on straight road will show- 

   i) Rectilinear  motion                                        ii)  Curvilinear motion         

   iii)  Oscillatory motion                                     iv) Periodic motion 

d) Which of the following shows oscillatory motion? 

   i) outer part of merry go round                         ii) blades of moving fan    

   iii) movement of sewing needle                       iv) potter’s wheel 

(4) 

15. a) Why we should adapt rainwater harvesting method? Give any one reason. 

b) Why do buffaloes cool themselves in water during summer? 

(3) 

16. a) Write the name of the mineral needed: - 

i)  For strong bones and teeth 

ii)  For the formation of haemoglobin 

b) Write two symptoms of iodine deficiency on the health of a person? 

(3) 

17. a) Name any two materials that are (i) soluble in water (ii) insoluble in water. 

b) Why do gases have neither a fixed shape nor a definite volume? 

(3) 

18. a) Name the process by which fragrance of incense sticks spread?  

b) Name two gases that do not dissolve in water. 

(3) 
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19. Mention the methods that can be used for the separation of the following mixtures: 

a) Pebbles from rice or dal 

b) Husk from heavier grain 

c) Fine sand from gravel and pebbles  

(3) 

20. a) Name the method used in the picture.  

b) What changes can we observe after mixing alum in the muddy 

water. Give reason. 

OR  

a) Name the process to obtain salt from sea water.  

b) Is it possible to separate sugar from wheat flour? Justify your answer. 

(3) 

21. Categorise the following as reversible or irreversible changes: 

(i) Growth of a plant                                

(ii) Ploughing a field 

(iii) Melting of wax                                 

(iv) Falling of rain 

(v) Germination of a seed                       

(vi) Changing of the dough into chappatis  

OR 

a) Can we say that ironing of a cloth is a reversible change? Give reason for your answer. 

b) Cooking of food is a chemical change. Justify this statement. 

(3) 

22. a) What kind of motion does a screw undergo while screwing it in the wood? 

b) Why a pace or a footstep cannot be used as a standard unit of length? 

(3) 

23. Observe the given diagram carefully to answer the following 

questions: 

a) Identify the plant “A” on the basis of life span. 

b) State any two special features of plant A. 

 

(3) 

24. a) How does fungus differ from dodder plant on the basis of mode of nutrition? 

b) 'Living things have a definite life span'.Justify this statement with examples. 

OR 

a) Define frugivores.Cite one example. 

b) 'Banana plant is a herb although it is as tall as a tree' – justify the statement with  

      proper reason. 

(3) 

25. a) ‘Decomposition of dead animals turns out to be useful’. 

   i) Who helps in decomposition of dead animals? 

  ii) How does decomposition turn out to be useful? 

b) Write two points of difference between scavengers and producers. 

OR 

“The oxygen and carbon dioxide balance must be there in the environment to support the life 

on earth” with the help of a flowchart show how different processes are involved to maintain 

the balance of these gases in nature. 

 

 

(5) 

A 
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26. a) Water is very essential for all vital processes of the body. Mention any two important    

     functions of water in our body. 

b) i) What is roughage?  

    ii) Why should we keep roughage in our diet? 

   iii) Name any two sources of food that contains roughage. 

OR 

   A mineral ‘P’ is essential for the formation of component ‘Q’, in the blood of a person.  

   The function, of component ‘Q’, is to transport oxygen in the body. 

   a) Identify ‘P’ and ‘Q’. 

   b) If deficiency of ‘P’ in diet of a person, causes a disease R, identify ‘R’ 

   c) Suggest one source of mineral ‘P’. 

   d) Mention one symptom of disease ‘R’. 

(5) 

27. While adding sugar in water, Rima observed, 100 ml of water dissolved maximum 3 spoons 

of sugar, each spoon having sugar of 10g. 

a) As the solution has maximum amount of sugar, what is the solution known as? 

b) How does solubility change with temperature? 

c) If Rima wants to dissolve more sugar in that given solution, what step she should take? 

d) In order to demonstrate a particular phenomenon, crystals of potassium permanganate 

were placed in the beaker half filled with water as shown in the 

diagram. 

What observable changes would occur in the beaker after few 

minutes and why? 

 

(5) 

28. a) The size of naphthalene balls when kept in open, keeps on reducing with time. Why? 

b) Name one more substance that shows the similar property. 

c) Draw a neat and well-labelled diagram of the process. 

(5) 

29. a) Melting of ice is a reversible change but burning of paper is irreversible change. 

    Compare reversible and irreversible changes on the basis of given examples. 

b) Switch on an electric bulb, it will start glowing. Which type of change is this? 

c) Formation of curd is an irreversible change as well as a chemical change. Justify this     

     statement. 

(5) 

30. a) Draw a web chart to classify plants on the basis of habitat. 

b) Compare any two of these categories on the basis of habitat and water requirement. 

c) Mention one feature of lotus that helps it to survive in water. 

OR 

a) Differentiate between vertebrates and invertebrates with examples. 

b) Give one example of (i) a vertebrate (ii) an invertebrate that ‘reproduce through eggs’. 

c) Name one parasite whose host body is human being. 

(5) 

                                                 ********************************************** 
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D.A.V. INSTITUTIONS, WEST BENGAL ZONE 
PERIODIC TEST -2 / HALF YEARLY EXAMINATION 

SESSION: 2023-2024 

Class: VI                                    Maximum Marks: 80 

Subject: Social Science                                                              Time: 3 Hours 

General Guidelines:-  

1. There are 36 questions in all. All questions are compulsory.  

2.  Marks are indicated against each question. 

3. Write the question number as given in the question paper while answering a question in your answer 

book. 

4. Questions 1-20 are very short answer type questions of 1 mark each. 

5. Questions from 21-25 are 3 marks questions. Answer to these questions should not exceed 80 words each. 

6. Questions 26-28 are source-based type questions of 3 marks each. 

7. Questions 29-34 are 5 marks questions. Answer to these questions should not exceed 120 words each. 

8. Question no. 35 is a globe sum question of 4 marks. 

9. Question no. 36 is map question of History. Map should be attached with the answer sheet. 

1. Mars is a cold desert in the Solar System. Why? (1) 

2. Name the period of time when the sun is located just below the horizon before sunrise.    (1) 

3. Rewrite the following statement correctly. 

On 21st June the rays of the sun are vertical over the Equator. 

(1) 

4. In the question given below, there are two statements marked as Assertion (A) and 

Reason (R). 

Read the statement carefully and choose the correct option. 

Assertion: The region around the North Pole faces the sun for a period of about six 

months.  

Reason: The axis of the earth is not perpendicular but tilted to one side. 

A. Both A and R are true, and R is the correct explanation of A. 

B. Both A and R are true, but R is not the correct expiation of A. 

C. A is correct, but R is incorrect. 

D. A is incorrect, but R is correct. 

(1) 

5. Name the author of the book Arthashastra. What type of literary source is it?  (½ + ½)  

6. Find out the correct statement/statements.  

I) History refers to the period when the art of writing was unknown.  

II) Epigraphy is the study of inscription. 

III) All written records of the past are known as manuscript.  

IV) Non-religious literature consists of the Vedas. 

 

A. Only I 

B. Only I & II  

C. Only II & III 

D. Only III & IV 

 

(1) 
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7. “The most remarkable invention of Neolithic man was the invention of wheel” -State 

any two uses of wheel.         

(½ + ½)  

8. Compare between core and flake tools. (1) 

9. Name the ambassador sent by Seleucus Nicator to the court of Chandragupta Maurya. (1) 

10. Match the following: 

Column A Column B 

1. Indra a. The Supreme God 

2. Vayu b. The God of thunder 

3. Prithvi c. The God of wind 

4. Zeus d. The God of  earth 

Code:  

A. 1 - b, 2 - c, 3 - d,  4 - a. 

B. 1 - b, 2 - c, 3 - a,  4 - d. 

C. 1 - b, 2 - a, 3 - d,  4 - a. 

D. 1 - b, 2 - d, 3 - a,  4 - c. 

(1) 

11. Fill in the blanks with appropriate word.  

Ajatshatru shifted his capital from ……. to ……... 

(½ + ½) 

12. Identify the person in the picture. 

 

 

 

 

 

(1) 

13. State the meaning of Ashoka's edicts. (1) 

14. List any two factors responsible for green revolution in India. (½ + ½) 

15. Name any two social reformers of India. (1) 

16. Onam : _____::_____ Punjab. (1) 

17. Recall the type of democracy that India has adopted.  (1) 

18. Correct the statement. 

In democracy, the opinion of the minority is accepted but the opinion of the majority is 

also respected.  

(1) 

19. Identify the picture. 

 

 

 

(1) 
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20. Define Universal Adult Franchise.  (1) 

21. a) Venus is the hottest planet although it is not the closest planet to the Sun – Justify. 

b) Two statements marked as Assertion (A) and Reason (R) have been given below. 

Choose the correct answer from the options that follow: 

Assertion (A): Stars appear to twinkle. 

Reason (R): Disturbance in the atmosphere causes star light to bend slightly. 

 

A) Both A and R are true, and R is the correct explanation of A. 

B) Both A and R are true, but R is not the correct explanation of A. 

C) A is true but R is false. 

D) A is false but R is true. 

(2 +1) 

22. a) Mention the latitudinal location of the heat zones of the earth with the help of a       

   diagram. 

 b) Define Grid. 

(2+1=3) 

23. The society was based on Varna System- Explain. (3) 

24. Define Sanskar. Your family is helping in developing your personality. In return, what 

can you do for your family? 

(1+2=3) 

25. Prepare a flow chart on the different levels of Government.  (3) 

26. Read the following passage and answer the following questions- 

Imagine a map as a magical portal that unveils the world’s secrets before your eyes. 

Like a treasure map, it uncovers hidden paths and gems waiting to be discovered. 

Maps, with lines and symbols, guide us through cities, forests, and deserts. They help 

navigate roads, trails, and landmarks, making journeys confident and exploration rich. 

Through their intricate depictions, maps unveil the interconnected stories of the world’s 

diverse landscapes. Each map tells a story of explorers, adventurers, and civilizations. 

Political maps reveal the boundaries of villages, cities, and states, giving insight into 

the organization of societies. On the other hand, Physical maps paint a vivid picture of 

features like towering mountains and winding rivers, helping us appreciate the Earth’s 

natural beauty. 
 

a) Name the two types of maps mentioned in the above passage. 

b) “Maps, with lines and symbols, guide us through cities, forests, and deserts”-    

     Elaborate. 

 

(1+2=3) 
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27. Read the passage given below and answer the following questions.  

Rig Veda mentions Rajas who were different from the later Vedic kings. They neither 

had capitals, cities, palaces or armies, nor they collected taxes. Kingship was not on 

hereditary basis. But in the later Vedic period there were a number of small and big 

Kingdoms where kingship was hereditary. King of a small Kingdom was called a Raja. 

A samrat or Maharaja controlled a large Kingdom known as a Rashtra. The king was 

assisted by purohit, mantri, senani and gramini. The king consulted the sabha and 

samiti on all important matters. The sabha was a small body of selected village elders 

and the samiti was a large assembly that was responsible for policy making. 

a) What was a Rashtra? 

b) Name the persons who helped the king. 

c) Compare between the sabha and samiti. 

(1+1+1=

3) 

28. Read the source given below and answer the questions that follows: 

Naira and Ashish work in a Tally Office. Ashish applied for a leave as next day he was 

to go to the polling booth to cast his vote. The employer gave a sanctioned leave to 

Naira too. 

a) Which essential feature of democracy is visible? 

b) Name two countries where women had to fight for the right. 

c) Name the type of democracy that is being talked about. 

(1+1+1=

3) 

 

 

 

29. How do day and night occur on earth? Explain with the help of a diagram. (3+2=5) 

30. Why is a Globe considered a perfect representation of the earth? Write two limitations 

of Globe. 

(3+2=5) 

31. a) Recall the evidences that proved that Indus Valley people had trade relations    

   with other countries. 

b) Elaborate the Drainage System of the Indus Valley Civilization. (any three       

    points) 

(2+3=5) 

32. Illustrate the finest examples of the art and architecture of the Mauryan period. (Any 

five). 

(5) 

33. List any three essential services commonly required by rural as well as urban 

communities. Evaluate two factors that make city life difficult compared to village life 

in India. 

(3+2=5) 

34. “Preamble is also called as Preface to the Constitution”- 

a) Mention any three values that it states. 

b) Why is it called the soul of the Constitution? 

(3+2=5) 

35. Moshad a town in Iran is located on 60°East longitude.  What would be the local time 

of Moshad town when it is 12 noon at Greenwich? 

(4) 

36. On an outline map of  India , locate and label the following: 

a) A Mahajanapada which emerged as the most powerful. 

b) Kashi 

(1+1) 

                                      

                                                                   *************************** 
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